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If we assume that all of the forces acting on individual particles in the system are due to

2
d Q other particles contained within the system, Newton’s third law requires that the total force
= 0 must be zero. This constraint exists because of the equal magnitudes and opposite directions
l of action-reaction pairs. Of course, the momentum of individual masses may change. Using
d_"’ center-of-mass quantities, we find that the total (or net) force on the system is
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Fig. 6.2. The angular momentum vector k is perpendicular
to the radius and velocity vectors of the planet. Since k is
a constant vector, the motion of the planet is restricted to the
plane perpendicular to k









